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1) Anarctic village skiing trail has a radius of 1 kilometer. A skier started at position (1,0) on a coordinate axes and
skied counter-clockwise. After skiing counter-clockwise, the skier paused for a rest at the point (0.5,0.87)<\
e

Draw a diagram of the situation described. Find the central angle (measured in radians) the represents th
amount of turn from the start position to the resting point.
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2) Asecond arctic village maintains a circular cross-country ski trail that has a radius of 2.5 km. A skier started
skiing from the position (2.5,0) and skied counter-clockwise for 2.75 km. before stopping for a rest.
a) Find the number of radius lengths the skier has traveled around the circular path. (In other words, find the
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b) Determine the ordered pair (measured in km) on the coordinate axes that identifies the location where the
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The skier then continued along the trail, traveling counter-clockwise until he had traveled for a total of 10 km

before stopping for another rest.

c) Determine the ordered pair (measured in km) on the coordinate axes that identifies the location where the
skier rested after traveling a total of 10 km. O - X, = Y
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(-1.034, -/ 892)
Suppose that a different skier skiing from the position (2.5,0) skied clockwise for 5 km before stopping for a rest.
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d) Determine the ordered pair (measured in km) on the coordinate axes that identifies the location where the

skier rested. (;/)\,S"COS ('_2) ; o TR ol R o (-«'L)B

fﬁ' (-1.0t0, -1.273)
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